DM2EE SRS AHIEEEH CHRES

—MREFAEETFE (B)

&¥l 4

URA (B47 : M)
A iz =H R2FE |RIZETEE SR Bl
1&8E% |1 882 1 &8EZ 47,456,000 52,516,000 5,060,000 | EE = 2EEE
14,000,000 14,000,000 LBEEEAS
8,800,000 8,800,000 AT —F )\
24,656,000| 29,716,000 EEpILi )
2 mgE |1 mpE 1 Bz 4,119,000] 4,119,000 0
3,698,000 3,698,000 N D« —4 @IS (FE)
421,000 421,000 BHiRMENEEEERMEE (H30~R5) (FE)
JEEE |1 EEE 1 i&mE 3,136,453| 3,136,453 0
4 ENA |1 #ENA 1BEAZ 0 0 0
BURRISSTFENSEAE
2 LENA 276,000 276,000 0
LEUNA
3 HMEUNA 547 547 0
FIFUNAE
(INASET 54,988,000] 60,048,000 5,060,000
g
> Jiz] = R2TE  |RIEETE=E TR B
1REE |1AhelE |1 ane 0 0 0
2 BB 150,000 150,000 0
140,000 140,000 =S
10,000 10,000 FEEEEE
2 EEE |1 =EEEE |1 B7=%% | 53,000,000 58,060,000 5,060,000
53,000,000/ 58,060,000 SEMERTMESENN. MR
2 e 0 0 0
RN ] 1,144,900 1,144,900 0
BERAS A VIR RENR
4 B5EE 0 0 0
3 ¥R 1 FRE 1 ¥RE 0 ) 0
FiRE
4 fEve |1 Bus 1fEus 693,100 693,100 0
Bie
ZH& 54,988,000| 60,048,000 5,060,000
LR AR EEE LiEs muewRetrE T T
URA
R2FE |RERTEZR 5 RS
iRME 16,117,168 | 16,117,168 0
BAE 693,100 693,100 0| EEmRiER B EE ERE
HEUXA 1,832 1,832 O|FIFUNA
UNAEET 16,812,100 [ 16,812,100 0
(a)
g
R2OFE |RIERTE= 12 IS
B 0
ZH&EtT 0
(b)
IRA&EET (a) THEET (b) R2EEXRFEES
16,812,100 - 0 = 16,812,100




